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N.B.: 1) Questbn No. 1 is Compulsory.

3) Figures to th right irdbate full rnarks.
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Q.4 (a) 
Showthat setortunctions iH,H,# .j.fuDnow tnat ssL ur rurruLruuD \G'-6 'T- ffi^.;",:li,l:..1,-]1j{:ii;:-$L.;,11x
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i

sel $1 chui t* bqs<dJ eu=-/ 
;tJrL);T,

B Hours)

Nofi$l1) &t+ €n no.: 1 is eornpulsory.

2) $olve any three questions out of,rernaini.ng.

$ fie.totho dgtt indicatos maximum rnarks.

a) Assume,suitabb &la whercver neosssary brx justiS the sarrrc.

Ql. Sofvc any fivo.

*) Defisx.$in6,thavahre ofBc such that Vc* 5V aad $= 56.

lTotal Marks : 80

(3x4 = 10)

ITURN OVER

h)
c)

d)
e)

&& aad erspl*in lMflls's Theorem..

&siga a stFbitn circnit usiog JFET for Io = 3mA, Voo = 20 V and Vps * 0.6 Vpp.

{ los =8 mA"Vp o -4V )

Etphb v.ar,hrre qryas :sf; s*pasitors
Detennine the vafues of eor,rpling eapacitors Cs 1 and Ca2 if rp - 1 . 59t , P = I 20 and fr":20*Iz.

9-a V

Cct C,
t-ff

$i I e Krr-

.9rrl-

f) Baplain concept sf zEro temperature drift in JFET.

Lla
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t

lo c FrL
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S2. Al l)'trsa" Ii. , . t) g* rII 3) $meil signal vo'ltagogain

Forihe cirouitgiven *Y_4 
O {\/

.fI.JI*
O'${+S }zxrg-.

aa, t c*tr"

I o KJL.

S3, Sl &fAaia:thO .eOue .of,Le fi$er iIr,porv-orsupply eircuit and 'hence derive

e*prussion for ripple factor of LC filter.

q$ A) Expleir concept of shrmt krrsrregulator. For a shunt Zener regulator giving

s&Fi* \nottege of 10 V and toad resistance varying ftom 5KO to l0.KO, Vin is varying

bott4rc€m l$f to,221F-' 
FhdRs, Pmxo $v a$d Ro,

Assume Rz = 4O end lzmin : 50PA

Bl Petormiaa,trpq,'V6sq, Vp5q iflpss ='9lnA and Vp = -3V for the circuit given below.

2*oV

l's KrL

-lov
A*A) Dseigl saf6n ._itirrre filter with FWR using two dtodes with ripple faotor less dlan 5%,

OUSut voltagois 24V and load current 200m.A,. The input line voltage of 230V/ 5SHz

Is availeble.

Bt Dotennine the values of biasing cornponents for a CE configuration if Vcc = 12V'

Vcs:6V, Rc=lKO, VBE = 0"6V, p: 180 forthe following circuit'

D Fixed bias without R6

iD Voltage Divider bias with Vs6 = 1070 of Vcc and 51 : I
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Paper / subject code: 51202 / Electronics Devices and,circuits-r

QPCode:25071
i

Q8 A) For XFET iflDs - 6 mA, Vr = -6V rd =co, Cgd = 4pF, Cgs = 6PF, Cds = lpF

Deteadnc i)Vssa iillE4

iii)gmo it)em
v) Mirtbard vol@n gain Av
vi) Higher Gut off*Gquorcy

t8r'

3rs*
cor

'3K
{s

I oo*{F

B) Explain high frequen"y p ,quilnlent model of cornmon emitrer Blf.

Q6.,De*igiu sing& s&gF"CS auplifier using mid-point biasing me,thod for voltage gain of Il, fO

Er. S l--tra fu = l0Kfi, Vo* 3.JV

(Use ISET paameters lsss = 7qlA, Vp: -2.5V, gmo = 5600pU, rd = 50KCI )
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5 €,seril,4 Elecl- € T&ez.rn' ) 5 H=

f2naicebr4 prrours) , 
,.\_1 ,.:...-,:l. Question No. I is compulsory 

'.i.'... .-1".,,'':..;.!:i;ig'S6r$${it+i.g}""):J''S--,
2. out of remaining'quesfions, attempt any three quesffil=5,i:;ql'"g.,,"'.;:'5ix;f*a11.*:.^si.rs.$-,ooioyr
3. Assume suitable additional data if required. ,i;^:\.t'-;r^#.qi"ilS.rl-,li*l-t*i.S.;49+)6:'^8 i'
4. 'Figures in brackeb on tbe righthand srdr to*.

q.i It] Exptain sl.Ir lrar'a;. - r"r:-;; {:.i,i;"' t- ,.' : tTn .iffi}.{*{jf*sf(A) E:rplain Static RAM ,,:', ,. r' ,:i.ii- . is- ' .. 
).., ,1. .; ,, "

(ci *,ro oftbc followingcxpression is equivalu*t* z=. fl*it;i*
; 
i " "'.ro -.i'dbbl<lj.$*i;:'

.''.: .1 i ) rr- i.i'-+l'.1 $1:l) +4 f
S'.,, ;l' *i#);qt;l-$,l''-^)

t, L -.Lv o lU fi !,4;tu-{'";:,"{,'}*ii},{i,ks.,rr|y\ii;!-Si,";$:*
iii) Z=A+B ivf'U+,>(S..-r..:":,$:.;l:),)";r':o*ut';',-,Sp;9,->l

pro-ve it. -i1ii,ffi;;g..;)..+;s;,..1*t*-'tl'r.:r.:"fffi
Perform the following oneration usirt[aiitorhgi,ilmt,',':^j';3.1].ri ;'"1;': .".*,.t'' .t--$d

i)z=AoB iil 7,1ffi".r':it!:*,Itffi

(B) Convert the following mh&g
:i.t,:i,;;,.\,:1, " I ;?:.

ibdsar:,,.1"',:',:1'.;.",.1'',1;i';f .oi:"i'..i) (05)

.n$F _1"' .,

(D) Perform the following operation usi4gi'L'it1qfri{hifi,g11i{.I".iiri:;'i.i"."";r,;:g}'
i) (ou),, -Prl,,,,;--lr ;..,+i,1i'.,-,.;li."'10.,;-'.,.,ls:1jr;i;.'{ffi
iiy (zr),0 -(+o)'r _";.rq,',,..".:,, .s-,,; ,:*1,;r..l f ",;t;i.r+6t{1i!$1Yq

comment on resurts 
"r(D 

an$qilL;:,:;,, ,:, ';;.5i$i1;if{i;Lit*.1.;}t*r' to,t
*r-frii'j'1,.-_.""i' "i: , ,;'^i'$i";r.;i i:;.{l*!,19 . .

Q.2 (A) CompareCombinationalrsiieiil*'wilh$Efluefttialdiredi$l-ff,;'-t'." . " ,] r'' i (05)

Q.3 (A) Minimize *re fstlQuenbWn**tpligirrquirie,MoC..Ju.sfu,{9d!$due (10)

r (e, a, g-el+ E{;J,z,l'Lt s)+ a(0,2; 5)

(B) IrnplementttrE ulpg,llple S:1.S{u,[4plbr€J, (10]
p,#1gl3,l.4rl5), :

(B) ConvertthefollowinginhqgPa{q,g9F.lcQdgrl ,'; ; : ',i,' 1..}'.i :r ;. ,.. (u))
i) (AB)ro ':; .. i;, , ii): qUB)r9' '.-.,'".., ,. . -,:l *', ,': . 

/"-'';'"

(c) Drawandexpraini.r's"$d,ro,{yyT"q----S$$l$ll{$:,,',,91
",,. 

,,lt.-';"r""'''.
totlpqr:nEg+P

aI=Etltt,o.
idqss'
.- :)' ..,.'
' rll!. .n.

i. .i'." :

Q.4 (A) w15ai"ir'b.xi:metiUsrat'H,eptA$ Sgexsietlo]Inbte$'i.$R flip flop. (0s)

(B) Cdivrd$*-ffinIltil.td-{&Sli, *oy', -' ^"-,',,. ir'";-t (05)
(q .,.1$luiis..slrifi.reglstrt? Elplirin wortrins, o{ ,Se.gat 

In Serial out. Give its (10)

tlieexsiatiobl
. .l-- '.', . i {" .: .
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a,!'...+ .;.--.* -.:.' tl;;sOquShce:.0 *2;4 * 6 - 0. Ttrke c-are of lockout condition.
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Please check whether you have got the right questiori.ga.plg;'
N.B: 1. Question one is compulsory ,,:: . r. : . : ;:1 ,'

2. Answer any three questions from the remaining five.
3. Assume suitable data if required.

Answer all the questions
a) Find Rrand & in the following circuit.

b) Find h parameters for the followjqg /-psrtiletw,or-k.

c)

d)

istor, usiing superposititon

Va

Page I of3
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b) In the following series RC circuit the switch is closed at F0, find the e;t

t-0 6 Ohmr

c) Find the driving point impedance for the following network'
s Omr

3 H '..t v
z (st

10

3. a) Find the ABCD parameters for the following 2'port"rletwor&
n 3 Cllrllt

b)

c)

Page 2 of3
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E)5.

*XTC ChaA@ &a-sq

b) Find Iz(S) for the following transformed circuit and hence find iz {t) using Inv.erse Lap}ac.b ,i

Transfonn.
' t.':l

' -:\.

' '1,'

., ,..,. . (.-

'..'': .]

2 Ohrnt

;iriet*-o?b,hiid:vj,/'VlritlVr;and'vr/I,
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c) Test whether the following functi$'nj ":a

F(s) = 1S4+ l4S2+45) i (S+?"S).!

6. a) ln the circuit given below, the sWirch Sr is opened" and the switch.S2 is ctosed at t=0. The switch Sr

05

10

10b) Forthe

t--1

3,
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Q.2 b) what are the various sources of errors in e meter?

Q.3 O A unity feedback system has

G(S) =

Q.3 b)

Q.4 a)

-:r

Q.4

Q.s

b)

a)
(0s)
(r0)

Q.5 b)

Q.6 a)

(10)

(10)

{,

(0s)
(0s)
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